NCERT Solution for Class 1 Mathematics

Chapter 3
Addition

How many altogether?

Q1.
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Answer:

5 Flowers and 2 | Flowers T Flowers

4 RBirds and 2 | Birds 6  Hirds
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Addition
Q4:

4+ 2 =
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Add and Match

Q7:
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Answer:



TR 3 4 3

3+ 2 .

4+2 &

4] w oy o
+ + + +
o L] (Lp] —
L] 4 v Pl
~ VA,/
4

00 (@ ° @ o0

OO0 & ] 6 ] & lEle]

@00 (@ O (O 000
A= [N
1 v L] 1
=t o ™ —
+ + + +
™ @ [4a] [5Y]

w 3+ 1

1+ 3 »

.

Add

Qs:
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Write the missing numerals.

Q10:
+ = 5 + = b
+ = 7 + = 3
+ = 4 + = 9
+ = 8 + = 1
Answer:
2 |+ 3 = 5 3 + 3 = B
3 |+ 4| =17 2 |4 1 = 3
2 |+ 2 = 4 5 |+ 4 = 9
4 |+| 4 | = 8 1 |+ 0 | = 1

This answer may vary from student to student. This answer is make, you understand how you can
answer these types of Questions.



